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paper with Provisional Answer Key Only.
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(1) GREAR cllul-yAsll %Y sl A2 U YR A R otysilell GUAlaL s,

(R) GHecRIA Wdlal uleundli 1A AR 3ell UsyRASIHL HWAA Ys sHLS Yol cdltll-YAoll
% ol 5cll AMIH citl-YAoll dotse UR YRtY YAd WAXBelcd BlodR Sloll Usl sUis
Yool ol A AeelUl Y s2cl

(3) GREARMN G5l YUollo] WYS UlClol $3G oAUl cAltl-YAA 3 53¢ 1Ll trlla
Aaud «igl.



001.

002.

003.

004.

00s.

006.

007.

008.

auRdly ofRRML S1UEL uHE AHIAAL U™ DAL UL 56 oloid xAuae € ?
(A) 0e2uld 21ya1 AFAUNE (B) (A2l el WA
(C) $5d 2uld (D) BuRlsanidfl s 8
QUAS A1 1A WS 55 yAni20d 9 ?

(A) A4y (B) tusl 8¢l 33l

(O EIEE] (D) usadl y2il

“oIRarll M, Sl 247 200 Rl nd)l amd], dd 8 547 d w2l Ao Hla-n W4
SUHL SRAUAL 20l © ?

(A) GIHIRRLAL 2UHBHI B) A% Na-u REus Rgidl
(C) yed 2=lEsR1 (D) YN 5%

DA UL suL Youas- 1 e ?

(1) aulys 21B2  (2) wlsavtigyassar 3) wRs ute  (4) W nfa5R
LA A5l A1 Fael uie 2.

(A)1,3 ¢4 (B) 2,3 ¥ 4

(C) 11 4 (D) 1,2,3 21 4

A2 HELAA SUL YSEHIML AU 58] O 3, AUE 58U 368 S601 Y H[ASIRIME YHIRL 530 A3 3.

(A) 253l uAue (A3 MHIRd dRRBY, (B) duas-ua [A3g uanet Ay
(C) unlAs [A34 oot Ay (D) 32axie audl Yseul
s AAL ol afld-Al A ... A mamiell sami 2udl .
(A) adladl Yo Al (B) A~ A

(C) %1 AL AMHa (D) GuRlsauidfl 51 8

QUR AL WAL 1S wRL A eudt o (Mt cur, (AR 2201 2400 41 8 d-
(A) drll A& YN 218512 €

(B) d-il &l 518 xR 512 1l

(C) d-it A& 4 el W+l iyel uldsiy 9

(D) BuRlsauidfl 51 s

A1 WA smi Apaac- @R a-ufsie © ?

(A) 52153+l N8ud

(B) AUl 241 27 AoyEl

(C) Guargula-l el

(D) A% YRAMT WHA [Aua Gur s1uel adal Alue A1 2uual
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009.

010.

011.

012.

013.

014.

015.

016.

017.

DAuniell sul gula-l A2ell 2 HAg1R HINAL ML, U, drll dgiHd-UHL HIG RUA(ES AL HL9L
A9l ?

(A) QALSAML (B) o [ acuil

(C) AU UML (D) osa [Qaun ulRne

Hirtd 2(A512 SnaioL wAEAUH 1993 Yaror A1 UL S d-i Aaa Sl as & ?
(A) Ul 1814 a1 g e =ay(d 21891 62 aasl Rga you 2uasy(d
(B) Hot Rt ual2a 816l You 2uasy(d

(C) Al xe1dd- [Ran ~uudla

(D) 20 -l QAR A ™A aou S1ES uRL asla

dls ueuHl Al ay A3 RAd woldzil We 2R84 tlss w AR .......... 8.
(A) ez (B) %31d

(C) Gk ugal (D) ML g

MRA As5[Ad ciglnnid), ¢isin GusHl x84l .......... wafl suadl 3 ©.
(A) GURa A2uld (B) QuRd-{l {ue

(C) SR~ wa=ll (D) R [anai-ll

Dauuisdl su1 w84l 2121-60S91 AYSA A 2w lasie: w2, argani-u Avei-l aidlRa ylaw
2 53 6 ?

(A) A (B) H1

(C) dgoug (D) HHELAE
(A2 Alefl [Quen AR-Genn ‘Alsd 2 .......... AU A3 2Y .
(A) A% (B) saU2s

(C) Heaus (D) 50

(A2 aruea [2ax 2018 < [Qua ......... .

(A) HA Qs Brendlal via 8sn (Big cats : Predators under threat)

(B) Wiél [G{Gllﬂ?)ﬁj 8B SR WS UMY, (Big cats : Time to protect)

(C) ~url [Brendlil, %lﬂ%imlﬁ vd2l 86U (Small cats : Reptiles under threat)
(D) HA Brendlal, A vallail wdl su (Big cats : Small birds under threat

133 g2l dlus 2401 alsa Y[R 2017 Yoo asdl slacudl eRA MR .......... 2 8.
(A) Al (B) Al

(C) wiui (D) 951

MURA UHRIRHE M-777 21¢2L dld 2 Sildenid A0 udaw .......... L usUloEl sy,
(A) L3+ (B) Wigaa

(OEL] (D) YA,

ACB-A] 3 P.T.O.
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018.

019.

020.

021.

022.

023.

024.

025.

026.

2513 g[Ru [Zrun 2u8s vl diedflu suyar w2 dzadlu 2uast we -l il aidls 0221 (National

Academy of Coastal Policing) .......... ASHL A3 saU 155 33{ 8.
(A) 341 (B) vl
(C) A~ (D) MR

5% glRL 01812 UisauHi 2adl [Alay el a2+ Aeu-d=A AL (Logistics Ease) 3[RAMi 22 aodiui
AARAA <. RUANA 54 .

(A) Ay (B) Al
(C)usy, (D) 2usy,

MR 54 doua [yl Suadl stalzd A 2ig Ramaq o ?
A) Res (B) 5143

(C) ulase (D) Y52

ABARHL MIRd [l - 2018 crgArdlu Alst scauud AAlAq 530 edl. DA-umidd sul g2 2 sadasl
ML L el ?

(A) 2l (@ (B) 4. AU,

(C) vildanza (D) Rouuiz

A1 U4 sul e 274 2udlR, Yedirt e we L8l sU 2018 DL ?
(A) MR (B) W31

(C) 22 [du (D) vl

MRd sl sgula-dl Heusid eRam siu WE 14 $A U Seua sul . DA WA 5y ax Al
AHA 9 ?

(A) vulant (B) 2ad
(C) a8l [asn (D) BuRisd dHIH

“12 el 2l Gu-l 915120 ttUesz HI YYES”, AL WAL s oL curdly A%uni 21 [@Q8us
UAR SAUNL 20 6 ?

(A) %22, ARUd (B) Ad, HEMEAU

(C) 12U, HEAUB (D) HRUB, HSIRNZ

(G2 20194 221 (World Health Organization) QM .......... YlML & 2R AsE AU MUl
A4 riac W2 uldoig €.

(A) 2020 (B) 2030

(C) 2035 (D) 2040

YA AR HiEIAUA 2018-19 AeH NA-unigll sy [ wig & ?

(A) Yo HoAl uldizra a8 saumi 2udl 8, % vidold yar-i- wldiew e 30 30,000 wld
Haal.

(B) 94 251 uR Ui W2 (A1 suuc #i2 500 $:13) arans
(C) AMELUEHI W2l 21 Alo=i HI2 592 5313+1l s -l odld
(D) GuRisauidfl 51 8
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027.

028.

029.

030.

031.

032.

033.

034.

03s.

oAl A s-2ulls wllan 2017-18 361 ARAd-L WA 4.99% Al [B11 8, w1 Au
GDPHI a1d-ll (827l .......... % 8.

(A)5.6% (B) 7.6%

(C)9.6% (D) 10%

D2l WAL st Qs orud iyt 2018-19 Hi Al ay snasll iy © ?

(A) 2ul2onld [Asa (B) Mgl wiulxi, wisll yast v seuuR
(C) UL A SHIR (D) U2 1, 201 seuL

122U 2 AlBopul (i “Gegre uldeyfd wR” t1onR (“gilt-edged” Market) 2124 & ?
(A) ALU-ALEl 1AR (B) AUelll3is Yau von:

(C) AAHA YRAL (FHE AWIR) HI LANR (D) Als2dR 25UAD [ Adl Bl HI2 IR
cuRddl Al azedl Al 2000 Haror sar an Yl 2uul aedl R 50U s2a) Lu vl Sl ?
(A) 2025 (B) 2035

(C) 2045 (D) 2055

dls tirs Al 2 ... w2 Al .

(A) SIS AL55YU DEAUHT birseil Ay, R 5[Fed uaAl

(B) ~Ur-6i[=501 uly Azl ualai R

(C) v AU ool [Qeudiiq vee

(D) [Bway/Gauz/532-1 Guaior [Ruuq

AR [AeiRHL s10R DA VS 56 oi-si [A{lsat NABARD 6121 $2UHE 209 6 ?

1wl oiesi 2. Ao ussil ol 3. [Fean slsu qesid ot 4. wie s il si-s1
A=A ASALHI AL WU UAE $2U.

(A)2 213 (B) 1,2 % 3

(C)2,3 x4 (D) 1,3 ¢ 4

A U 5181 ot (B usi 12 ad usius -l (SHG’s) Wl cacatd Wies - 2u ?
(A) RBI (B) NABARD

(C) 3-dlu afla (s Houau (D) 5+4ld AH HoUAY

gl Rz, Y-l 138 83 (Money laundering) 124 & ?

(A) u-l @=L 24 [Qgami [Q2ell aa uRag- sl ulEw 9.

(B) ¥l al=s[o1 -ua 2l egurar ulsa .

(C) 1l dirsRo1 diRs1ug U ugRziui At 521wl uRas sa-ll ulsa .
(D) u-ll di=3(21 25 Saruuigdl i uRas- scu-l ulza .

s18L IRAH [zl [AlAHu ¢l ond 9 ?

(A) Al Rnd 6irs (B) 222 615 s Sl
(O) [An Houa auRd AR (D) MRl [Asia 2uad sies

ACB-A] 5 P.T.O.
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036.

037.

038.

039.

040.

041.

042.

043.

A0 U 54 ysasli-u 2 cusl 8 dvi Ss0 Ang vitdi-il ey el ?

(A) et [Asa 244 2uad (B) AcuAi-t [Asia 214 2ua1d
(C) 2uas Wl 24 ysaull (D) %l 2uas 21 ysasll
A2 WA sl vis Gl Hean [RRuql s 52 8 ?

(A) @il (B) 421U

(C) 2ulzst (D) G 2R 41
2015 weluidl ad W2 L IeRIARL ... (el saudy ©.

(A) truRsisL, sl (B) A% si2, "aAdl
(C) a3leRl, UAHL8Id (D) 3131 241 QLS

A2 Q4 sl viy AHEL €l BUR sitndal 9 ?

(A) vl (B) 821

(©) uMl (D) BuRlsauidfl s 8
Dauuiedl sy ay yausia weg ulalbitia 53 € ?

(A) ueruell / AEHSIR anl (B) waiuidl a-

(C) 3dl @ (D) HElrL / Ml

ydla ezt 244 ulBam sz wd 9 i QA W4 59 2590210 2uddl 9 ?

(A) AUHAS (B) 131114

(©) lallR (D) AR

YU AVSIR Vvl YR8 WAAAAA SSdAH HIdRRANY 54 (International Centre of Excellence in
Mining Safety and Automation) .......... Hi QQllV:]; .

(A) MHEIUE (B) YR

(C) %512 (D) MU

-\

QR - T 2 YA - 1T A iy Ad Al

YR - 12 vlAer e Y- 10 o wglds Auuq
(1) #ai-l» (2) UAHSLA, A3LER, ELSIE
(2) tisude (b) 529 A sacy[R G151

(3) [@2-ude (€) 5249, MUADIR, M3, YRel
(4) SRR (d) 9121 B2YR

A=A ASALHI AL FUSL UAE $2U.
(A)1-2,2-b,3-¢,4-d (B)1-¢,2-a,3-d,4-b
(C)1-¢,2-d,3-a,4-b (D)1-d,2-b,3-a,4-¢

ACB-A] 6 [Contd.
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044. AR - T2 YA - 1T A Aoy d sl

YR -1: a8 R - 11 : €l
(1) 4RA3L (a) ANA
(2) si2L (b) 2du
(3) w2t (c) 1udl
(@) [aeruaust (@) [3¥u
2 A5l nil 121 oL vie 53U,
(A)1-¢,2-d,3-2a,4-b B)1-¢,2-a2,3-b,4-d
(C)1-¢,2-b,3-a,4-d D)1-¢,2-d,3-b,4-a
045. DA AA 58 €l Gu ds) ynldgd Aga20dy O ?
(A) HAM-EL (B) M9l
(C) Bdl2idu (D) Helfl-l
046.  NANUL 56 1€l Bgarm 2 GuRAHL el ?
(A) A1 (B) A-utt
(O):la (D) AAAY
047.  GIRdAHL sAL Us1R-1 aninl Alel [ (G € ?
(A) udla el auslldiv an (B) Guais(2oitlu 351 ASI618I1R At
(C) Guas2oitlly eioauon ueiuidl a- (D) Guas(2oilu ell-i ALIASIR anl
048.  NA-unidl sul [QiR 4l 12 ALl ay Adedla e ?
(A) ul2l el (B) MURdA-212U d2uel
(C) (e e (D) G ydl &=t

049. DAY swAdwse?
MaB ) s 3F)wa (@) wasHll
A=A ASALHI AL WU UAE $2U.

(A)1,2 %43 (B) 2,3 ¥ 4
(©) 1,324 (D) 2 41 3
050.  -NA-umidd) sy Ry vilar) 050 adlam @y u3 8 ?
(A) sl A0 (B) i wr (Ruesifafas) Al
(C) HerumL A0 (D) su2 Azsld
051.  swr Rieudl weumyld sean 249 wéiui AA-u U4 su el ulaRRca e ?
(A) ud (B) &1l
(C) 3L (D) &
052.  ugad olld alde sS cumni a6 ?
(A) Wsd (B) well
(C) 4d (D) [8+€

ACB-A] 7 P.T.O.
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053. 5y AU WYl (WorRui) We wead € ?
(A) A% (B) Ao2ud
(C) HSIR, (D) ¥+, s(THR
054. DA A2l gl :
(1) AR061 - e
(2) Hilgluzu - 2iR=u
(3) waRL - sules
BuRsd calda 58 Al / Azl =l 9 ?
(A) WA 1 (B) 1 12
(C) 1413 (D) 1,2 213
055.  2iis ol suL aHHL YA scumi 2uAl €9 ?
(A) tlig 4d (B) Amacug
(C) Raae (D) ¥ 4d
056.  ¥oeidui 1822 Hi 23 A udy Aol 2603 -
(A) Al HoAS U AHAR (B) ALs
(C) Rl AUs2R (D) A UsL2
057. AU s1a aaiou Ad Yl A 55130 vd 1925 L sildasidl a2 a8 Astuda edi ?
(A) A~ (B) 210515 Gecugrur
(C) e [Bilawa (D) BuRisd oLt %
058. IRl sUL YAt A%HL Al Al A8 aa’ wewefl Anueiate wasani sudl ¢dl ?
(A) 4952 W (B) 2ASHE Ws-T
(C) HHE 6l2s] (D) 2A8HE M-I
059.  uRdld sl Aollaui il ... Slu 69,
(A) uua [AlRd (B) Hriieua [Al2a
(OEARIET (D) GuRlsd o1y o
060. -2 caidel Gl ol
M odl  (2) 58 (3) A9
512 BuRA s UL 56 cumn / il usla el A 53169, DA ASdiniell 2 et uzie
$3.
(A) 1442 (B) 2 ¥ 3
(C) WA 3 (D) 1,2 ¢4 3
061.  AWHAE.......... GUMLHI et €9,
(A) ¥ (B) wdl
(C) Wgd (D) A4 WAl
ACB-A] 8 [Contd.
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062.

063.

064.

065.

066.

067.

068.

069.

070.

ASLERAL FUASALS AFCAA USHL WAS 5181 &l ?

(A) vidq a3 B) e

(C) LU bURUAL (D) WHHID

UL (AU suL AL Gedm Al ?

(A) AYSA (B) A9t Wi

(C) 35E3 (D) %4

QA UL 56 A8 2wl el ?

(A) Geuudl - -l cuq (B) wulia g - [egan ag
(C) dIR Had - Hins vud Act-l (D) M epsuld - AH-nA-L Hed

al$ [Alun vil2s grai DA WA san gain sami 2uda el ?
(1) “Us2Alg HRdluse el waal

(2) Adl N -uoiel

(3) s2u-ll -uoyEl

(4) A2 [QEaaH v

LA A5l ulou el uie 2.

(A) 2213 (B) 2,3 ¥ 4

(C) 2 ¥ 4 (D) 1,2,3 21 4
Wl IR 25HASIRIAL AeM D WS 53 e sraslis suni o ?
(A) gl - s - s (B) yrull - gL - as
(C) 5 - yru-ll - s (D) S - s - yru-il

Wl GURAAL A A1zl 5L (Rt st o oelldl el 6. dHIAL s 2B dl ASIIHL 6. oflo
Ayl sui 8 ?

(A) U8 512 (B) Sl 5124l

(C) dln B ys121l (D) ~ulAs 5121

A0 A su1 2uleal [QAgig 51280 Hida o1& u Uldeid ysul sdl ?

(A) ¥ [agis (B) uxu [Agie

(C) w3 [agis (D) 43t [Agie

DAl 518 MURA A AWM R “8IH 347 Anan A3 sl edl ?

(A) 2l tid-2 214 sud 2RusR Rns (B) Al 6lv2 27 2luie s¥3L U
(C) tud djusz 20 21 dle axudnn (D) 2. 3. AMA - AL ABUARJAL
D2l-u WA s wAlARaHA FRaH [Gueludil ugld a3 ad ?

(A) A12R A2, 1853 (B) HURA A1 [A[Aun, 1919
(C) M1Rd A$R 2A[AUn, 1858 (D) H1Rd A$R AAMAUN, 1935

ACB-A] 9 P.T.O.
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071.

072.

073.

074.

075.

076.

077.

078.

079.

R a1 ANANAL AFRAEHE DA WS suL uaHl 20U YRunRig 6l glaL sauMl >udl 8dl ?
(A) MuRdlA 2adtdl Y& (Indian Freedom Party)

(B) 2ue [8¢ $i% (Azad Hind Fauj)

© silasl ua (Revolutionary)

(D) 2l S[R3 124 6alls (All India Forward Bloc)

s 1 AnfE[Aan ... GIRL EIHA $AML UL Sl

(A) Al (@2 (B) &i$ Ru~

(C) &lS 535+ (D) al$ &Rz
USOIRAL AHUAUL AFARUA HARAEI] UL ... A 21gsla gdl.
(A) x158[Ae (B) d 5l

(C) Houlau (D) uldia

Alus Aot wizisia ADA-unidl 58 ousia-dl anogdl € ?

(A) 28 Ana-ii-u Guaiodl Ggmadl =uayel aidi-l aguell
(B) 2ustiscll WRad- 43l 512

(C) 8 [ast vl s12

(D) 2ustisal ulRad- i3l wieisia

219, AR AAHL (Nuclear Non-Proliferation Treaty) -1l WSl a1 uin w4 »igeuA 2l
WAL Ul 2udl 9.

(A) 3.2, A, s, A2, 3.3, (B) M1Rd, A, SBAAd, Grr sidla, y.3.
(C) 4.5., Y. 2.3, S3pAY, A, MR (D) 51+, 4, 4.5., A, ¢IRd

auRdly Aeern eeHi ya g o ?

(A) SUS BYLY AL 57UR Y WSIY (B) MEWIRA A8l 57U AGHIA

(C) ¢81dn sy Slasie: (D) GuRisaniafl s el

D2l-u W 53 you valaelly AidAd)U wrHad, AvHl el Qoiltd 4l ?

(A) A QAR (B) AHAU AR A~

(C) 23U AU (D) LSS AIHAA

A0 WA st A 1B dAuedl Hean dlus Wil (GWP) cua-u ¢ ?

(A) 5161 srs8 3 (B) 81531 $AIRISI0A
(C) Fan (D) US2A AN S
DAunidfl sy 223 akued sRA S ?

(A) st6i- SRS S (B) $AIRISAIRL 5104
(C) ULSR AU S (D) 81531 st

ACB-A] 10 [Contd.
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080.

081.

082.

083.

084.

08s.

086.

087.

088.

089.

A2 WA s A2 Geurtid, UNESCO 2 [ 4212 (A2 [Qruid 220 ddls o8 s3¢ Al ?

(A) Yerar (B) 3aciga

(C) A= (D) 51320

suL A yedl MR 2129 uld3u adls sinvami 2ud € ?

(A) bj8 A (B) Y5 AL

(C) Han as (D) AR AL

2 56 oAl =l Ad onsida el ?

(A) %97 QL - Y3wR (B) €1l UM - Al uist
(C) yrer ad - vidun g (D) wislleial - s [t st
Gla-u Asleus Aeed cualsyna ddls SaAid .......... Higl dandl asa 6.
(A) o221 (B) Aivi

(C) A (D) uB

AR 2 210 8g W2 AR SHS e HisAAA ......... PRETORR
A) Bl (B) 22

(C) &3 (D) GuRisanidl 515 )
‘Wi Max’ 121 U4l si-l 208 2Aoif8a €9 ?

(A) Ul 25 UAD B) Puda s
(C) AR / s¥YAsUA 25Ul (D) BuRisd tiai %

6] AAAAL QAL AHAL L AL, 5L 35 AL ED. AHAL QL AL 247 O AL, <L A 1800 €. oA
d WSl 25 Ava 250 Siu dl ollw Avu sed) ¢al ?

(A) 175 (B) 350
(©) 750 (D) 900

25 (M9 g oL gl ity 21 BAd 21 4:9 U UHRAHE 252 sl W a8, A d [Ratig-u s
o2 FAAN ML 54 (3l S, dl d w2y au- s2¢ 8o ?

(A) 78 [3al (B) 84 [3al
(©) 112 [3al (D) 2uHid 25 ueL -l

45 [300/5eu5) 33U ol 2+ 245 Hl21 Yy AYLIUEL YAIR 52l 30 As~3 AL B, dl -l douss seell
s ?

(A) 90 HleR (B) 125 #le2
(C) 130 Hl2= (D) 145 l22

215 AU wlerll dons Hur avid aRa3sdl 2% B2l 4t HuiS AU 8. dl d-ll 85N HIUAML 24l
25142l 284 ?

(A) 4% (B) 4.04%

(C) 4.4% (D) 2uHir, 25 el il

ACB-A] 11 P.T.O.
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090.

091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

25 $HA 5 AN HI2 12% - Ay sl 4 31 32,000 i 014 8. di d 4 S2efl ¢9l ?

(A) 3L 8,000 (B) 3L 12,000
(C) 31. 16,000 (D) 2uHir, 25 el il
0.0225 4 iy 324 19l ?

(A) 0.015 (B) 0.15

(C) 0.0015 (D) UMz 25 el il
logo 27 + logg 32 -0l [3ud 32l a4l ?

(A)7 B)19/6

(©)359/72 (D) UMz 25 el il
AV P = {0, 1} it Guaai-l ivul 52l w9l ?

A1 B)2

©)3 (D) 4

5 Aislds cuunl SIKKIM® A ‘“THLJJL ddls @uaiyi 20d 9. di d Aislds cuini ‘“TRAINING’
A 5dl Ad @i 2ua9 ?

(A) UBQHOHOI (B) UQBHOHOF

(C) UQBHOHOG (D) 2uHir 25 el il

[Aopu 1o 222l ulZn [2en drs 150 122 014 ©, R6ue d Uldidl suell s 531 80 Hl2z WA ©. di
dd, 4o el agau vidr s sl ?

(A) 170 Hl2= (B) 200 122

(C) 230 Hl2= (D) 250 2=

U512 28 s14 54 [Bauni yel 52 8. R [Asi1a d % 514 36 [Buaiyel $2 8. di tiid 08 d 514 Yol
52l 524 [Bau awel ?

(A) 24 [2ax (B) 108/5 [2au

(C) 124/5 [2axn (D) 30 [2ax
AHLSW X2 +x—6=0 1L B3 50169 ?

(A)3, 2 (B)-3, 2

(©)-3,2 (D) 2uHix, 25 el il
axb=2a-3b+ab,thendxX5+5x4=?

(A) 21 (B) 25

©)29 D) 31

s 2rilHr2ul §4 6 ML UL €35 Au ousl-l drunm AL 8 s Ha ™madl Slu dl g sedl 4
™ ?

(A) 12 (B) 15

(C)18 (D) 36

PufaQuaus 8. RAP AL o818 2 S ALyl 69, el Q -l S el 2l oiu 8 ?
(A) R (B) Hicl

(©)yAl (D) HUSAL 21yl €.
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101.

102.

103.

104.

105.

106.

107.

108.

109.

Which of the following responsible for ‘¥, a0 & Y°?
(A) FHTaa q: (B) stfh=
(C) st = (D) All the above

Match the following Guna given in column ‘A’ with their biological effects given in column ‘B’
keeping in view the Ayurveda Rasayana commentary.

Column A Column B
(a) 5 (1) g
(b) Fie: (2) &
(c) ®aT: (3) etz
(d) fufesa (4) emr5OT
(A)a-1,b-2,c-3, d-4 B)a-3,b-1,c-4, d-2
(Ca-2,b-3,¢c-4,d-1 (D)a-4,b-2,c-1,d-3
‘RRTE: SRUIHRIATHTA” - In this context, ‘Ta<=’ according to Cakrapani means -
(A) ST ST (B) T YR qEH
(C) i fafay Bramm™ (D) T g
As per ‘% T 9™ g ‘arg’ is represented by which of the following in purusha?
(A) Tiq (B) =t
(C) gtut: D) 7T
According to Chakrapani - ¥Ht ®ight T{q¥@di means -
(A) 9t aTg g AR (B) 3Tirhar It
(C) THwEHT qfef.9w™ (D) All the above
‘TEYF’ is the function of which Vata?
(A) Prana Vayu (B) Udana Vayu
(C) Vyana Vayu (D) Samana Vayu
In the context of ¥ ......... et did a9 =, according Dalhana, the correct explanation is:
(A) did frgraEeme et arERIEE (B) el AT, Wd FHRHERmE™

(C) et THIHTEaRIET did. FHTERITET (D) et grFaTaET did fafaraeama™
‘371 YAUFA’ is the function of which Vata, according to Ashtanga Hridaya?

(A) Prana vayu (B) Udana vayu

(C) Vyana vayu (D) Samana vayu

According to Dalhana, the function of ‘Vyana vayu’ is the following -

(A) g (B) 33T

(C) T (D) faa=

ACB-A] 14 [Contd.
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110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

M WATTe AN TAIHHIT | A FEArssT¥ 98 9T =T || In this context, 37T means:
(A) stfrem= s (B) TdFTaH faidrera
(C) e 32 fafyredt (D) TFFTet TaTem

According to Sushruta Sambhita, ‘SSIEH’ is a function of Vata. According Dalhana, what does it
mean?

(A) T TeAAH, AT FH (B) STETIA 4RUH, |/EE FH

(C) TR JUTHUH, THEE FH (D) T 4T FIATHAH, AR FH
‘ghaara’ According to Ashtanga Sangraha, is the feature of which of the following -
(A) Vata-kshaya (B) Vata-vriddhi

(C) Pitta-vriddhi (D) KaphaVriddhi

Which vayu is known as ‘9a=i=:’ -

(A) Prana vayu (B) Udana vayu

(C) Vyana vayu (D) Samana vayu

According to Ashtanga Sangraha, ‘Ttur’ is the function of which of the following?
(A) YL ™ and TR 4T (B) YT W, 37T W and & 41
(C) YT W, 3T W, J10T 9] and ™ 9T (D) =T 91 and ™ 41q
‘TAIIATATEN AT FATARS:” refers to which Vata?

(A) 9ToT 91 (B) /T 91

(€)= Y (D) FHTT 1Y

T WA feaaniaed faetitena® | is quoted by whom?

(A) Acharya Charaka (B) Acharya Sushruta
(C) Acharya Madhavakara (D) Sharandadhara

According to Sushruta Samhita, WIFFAE is function of which Vata?
(A) gTUr (B) 38

(€)== (D) §HT

TRIEA is characteristic of which Vata?

(A) 9Tt (B) 31aT=

(C) == (D) §HT

According to Sushruta Samhita, ‘THWIWI'&IHT’ is the consequence of which of the following -
(A) Vata-kshaya (B) Vata-vriddhi

(C) Kapha-kshaya (D) Pitta-vriddhi

According to Ashtanga Samgraha, ‘“ASSTIST®’ is the effect of which of the following -
(A) Vata-kshaya (B) Vata-vriddhi
(C) Kapha-kshaya (D) Kapha-vriddhi
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

According to Sushruuta Sambhita, ‘HSHSACT is the symptom of which of the following -
(A) Vata kshaya (B) Vata vriddhi
(C) Kapha kshaya (D) Pitta vriddhi

According to Sushruta Samhita, ‘GeTATS<IT@’ is the sign of which of the following -

(A) Vata-kshaya (B) Vata-vriddhi

(C) Pitta-kshaya (D) Kapha-kshaya?

According to Caraka Samhita, in RRETEIT, JU ... TSt has been mentioned.
(A) Fedta (B) STHUTHIA

(C) FATH (D) Herdtaq

According to Caraka Samhita, ‘SEHTETH’ is the function of which of the following -
(A) Prakrita pitta (B) Prakritakapha

(C) Rasadhau (D) Raktadhatu

According to Sushruta Samhita, in which of the following seasons Vatadoshagets vitiated?
(A) efta w1 (B) 3T FTe
(C) amt=t (D) All the above

According to Sushruta Samhita, ASIT-TTIT-AWT are the causes of the Prakopa of which Dosha -

(A) Vata (B) Pitta

(C) Kapha (D) Sarvadosha
T4 according to Dalhana is

(A) TR (B) WiaH

(C) gRI=TSTeTHE] (D) ASTHSTATHEH
According to Sushruta Samhita, .......... JHRTEITHT |

(A) TRHE: (B) AETHEEEAT:
(C) TTUTh (D) FHHT:
According to Sushruta Samhita, .......... JHTRTEIYU |

(A) TAHT: (B) HIMTYFEEHT:
(C) MTUTah (D) FHHT:
According to Dalhana, .......... HIHTARSe o |

(A) STTF, HUTFA (B) WIHA, FAFA
(C) STIeFA (IDEEIE

‘ST’ is the upadhatu of which dhatu?

A= (B) &

(C) wi | (D) B7
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132.  According to Arunadutta: .......... sy |

(A) 9 (B) urq:

(C) FwaT: (D) TFfe:
133.  ESIUSTEAT T W= AW Tt |

A FAUY MY qqt= e, \l Fill in the blank.

(A) SreaTgeAl (B) SrTEHaT:

(C) Teta: () ERGERIF
134, V... AN IEgHIaead |

(A) Srgegat (B) 3cpeat

(C) sreTRraT (D) &

135. According Sushruta - &Y has following characteristics -

(A) TAsrathoft guaatHogweERTaTHT
(B) dsruthuitsqaautioaRersrathnt
(C) FAHSTUATTN FHEIGHTIN HERILH T
(D) TSI FASTRTOTSTHATLATON HERIIH I
136.  According to Chakrapani, ‘S99 in the context of STERUNUMHFINT stands for

(A) FTHBIIHATEHTT (B) ST AT
(O ELAREEIBIERRIERE (D) FSTICTEAT FRITRATATIATL:
137. According to Ashtanga Hridaya, ‘T<arg=#’ is the function of which of the following -
(A) Rasa (B) Meda
(C) Sweda (D) Mutra
138.  Fill in the blank - ¥ T@ATA T .......... gTer AT |
(A) TFa (B) witer
(C) Tt (D) TFeette=t
139. According to Sharngadhara Samhita, Karnavit is the mala of which of the following -
(A) Rasa (B) Rakta
(C) Mamsa (D) Meda
140.  Fill in the blank. 389 .......... et SRR 4Tad |
(A) ®iT (B) TR
(C) wsaTt (D) &%
141.  ¥E ARTF oeneen FerquiswadT | Fill in the blank -
(A) ettt (B) Reeent
(C) dtemr: (D) tafeset

ACB-A] 17 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


142.

143.

144.

145.

146.

147.

148.

149.

150.

151.

......... YeFAS:, |T5: WA: WEL-UHEE: | Fill in the blank -

(A) sftat (B) 5:

(GRS (D) Rrfezett

FoI, UTieled, a1, SIT result from the vitiation of which Dhatu?
(A) Rasavaha (B) Raktavaha
(C) Asthivaha (D) Majjavaha

According to Hemadri, if predomimabce of Vata and Pitta dosha is there, which of the following
agni will be seen?

(A) Tikshna (B) Manda

(C) Sama (D) Vishama

According to Sushruta Samhita, the Kshaya of which of the following lead to ‘@& W’ ?
(A) Rasa Dhatu (B) Rakta Dhatu

(C) Sweda (D) Medo Dhatu

‘RIS is produced due to which Vega Avarodha according to Caraka Samhita?
(A) Purisha (B) Mutra

(C) Trishna (D) Nidra

‘A 6 AT ATAT characteristic of Kapha prakriti is due to which Guna?
(A) Snigdha (B) Shita

(C) Madhura (D) Pichchila

According to Sharngadhara Sambhita, which of the following factors contributeto the process of
formation of Rakta?

(A) Samana Vayu (B) Ranjaka Pitta

(C) Rasa Dhatu (D) All of above

According to Charaka Samhita ‘STTa<rail’ is characteristic of which of the Sara person.

(A) Mamsa Sara (B) Majja Sara

(C) Shukra Sara (D) Sarva Sara

According to Charaka Samhita which of following is NOT a gmom&a— ?

(A) Shukra (B) Rasa

(O) Ojas (D) Rakta

The following is TRUE about Calcitonin

(A) It is a steroid hormone (B) It is secreted from Osteoblasts in the bones

(C) Inhibits osteoclast activity in bones (D) Calcitonin increases blood calcium
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152. Following is NOT true about Insulin:
(A) It causes a fall in blood glucose level
(B) Glucose permeability of brain cells is insulin dependent
(C) Promotes Amino acid, potassium & phosphate uptake by the cells
(D) Insulin promotes glucose storage by the muscles
153. Following is NOT true about ventricular muscle action potential:
(A) Plateau Phase is present
(B) Long refractory period
(C) Mainly Sodium, Potassium and Calcium ion channels are involved
(D) Is similar to skeletal muscle action potential
154. Kidneys secrete the following substances EXCEPT:
(A) Erythropoietin (B) Renin
(C) Dehydroepiandrostenedione (D) Calcitriol
155. Alveolar type II cells secrete:
(A) Dipalmitoylphosphatidylcholine (B) Angiotensin Converting Enzyme
(C) C-type Natriuretic Polypeptide (D) Alveolate-B
156. Alpha-1 (a1) type of adrenergic receptors mediate the following effects EXCEPT:
(A) Vasoconstriction (B) Pupil dilation
(C) Constriction of urethral sphincter (D) Increases intestinal peristaltic movements
157. If RR interval is 25 mm in an ECG recording, the ventricular rate is:
(A) 60 beats per minute (B) 75 beats per minute
(C) 100 beats per minute (D) 150 beats per minute
158. Normal cardiac axis should lie in between:
(A) 0° to 180° (B) +90° to 180°
(C) -30° to +90° (D) 180° to —90°
159. Inverted p wave, a deep S wave, and an inverted T wave - are always normal in:
(A) Lead aVF (B) Lead-I
(C) Lead aVR (D) Lead-II
160. Acetylcholine is secreted from all fibers EXCEPT:
(A) All postganglionic parasympathetic fibers
(B) All pre-ganglionic sympathetic fibers
(C) All pre-ganglionic parasympathetic fibers
(D) All post ganglionic sympathetic fibers
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Cholecystokinin is:
(A) A steroid hormone (B) Acts on pancreas and gall bladder
(C) Secreted from G cells of the stomach (D) Secreted into the duodenal lumen

If Aorta is imagined to be a metallic tube, the blood pressure in healthy individual would see the
following changes:

(A) Systolic BP will increase, and Diastolic BP will fall

(B) Systolic BP will fall and Diastolic BP will increase

(C) Both Systolic and Diastolic BP will fall

(D) Both Systolic and Diastolic BP will increase

Following is NOT true regarding Heparin:

(A) Is produced by Basophils and Mast Cells

(B) Is used as an anticoagulant in the prevention of deep vein thrombosis
(O) Is used inside test-tubes as anticoagulant

(D) Is a polypeptide

The common biological effect shared by Angiotensin-I1, Aldosterone and ADH is:
(A) Vasodilatation (B) Vasoconstriction

(C) Diuresis (D) Increase heart rate

Accentuation of first heart sound is seen in:

(A) After physical exercise (B) Anemia

(C) Hyperthyroidism (D) Sleep

According to Sushruta Samhita,the most stable structure in the body is:

(A) Tvak (B) Mamsa

(C) Asthi (D) Meda

Fill in the blanks - .......... FTet TRT0F uTed ARAEARE Ay | W Ty e gaad |
(A) T (Dvi) (B) T (Eka)

(C) 91q: (Chatu) (D) 31 (Ardha)

TIAT 907 Juf TWIAATHEEH (Sparshdnyanam Asamshayam) is the function of
(A) Rasa Dhatu (B) Rakta Dhatu

(C) Mamsa Dhatu (D) Medo Dhatu

According to Charaka Samhita, ‘TJIH 3T’ is sign of ..........

(A) Rasa Dhatu Kshaya (B) Rakta Dhatu Kshaya
(C) Mamsa Dhatu Kshaya (D) Medo Dhatu Kshaya
The correct description of THT (V) is: ..........

(A) TuiH TTHRATT (B) TUIH GHTATT

(C) TUTH FeMuTa (D) TUR Tt
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

‘Post marketing surveillance trials’ comes under which phase?

(A) Phase 1 (B) Phase 2

(C) Phase 3 (D) Phase 4

Which of the following statements is NOT true in case of pilot study?

(A) They are conducted for developing and testing adequacy of research instruments
(B) They establish whether the sampling frame and technique are effective

(C) Ethics committee approves the main study only after successful completion of the pilot study
(D) They are small scale studies

Minimum members required to form the quorum of IEC -

A)s (B) 6

(Ok:] D) 12

Mean, Median and Mode are:

(A) Measures of deviation (B) Ways of sampling

(C) Measures of control tendency (D) Measures of central tendency

Which of the following is the first step in starting the research process?
(A) Searching sources of information to locate problem.

(B) Survey of related literature

(O) Identification of problem

(D) Searching for solutions to the problem

A Questionnaire is a:

(A) Research method (B) Measurement technique
(C) Tool for data collection (D) Data analysis technique
‘Controlled Group’ is a term used in .......... .

(A) Survey research (B) Historical research

(C) Experimental research (D) Descriptive research

Which of the following is NOT a “Graphic representation”?
(A) Pie Chart (B) Bar Chart
(C) Table (D) Histogram

There is no association between drinking well water and coronary heart disease, select the type
hypothesis -

(A) Directional (B) Non-directional

(C) Null hypothesis (D) Alternative hypothesis
Among the following which study is strong to prove causation of disease.

(A) Cohort study (B) Randomized controlled trials

(C) Cross-sectional studies (D) Ecological studies
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181. Among the following which research study has high possibility of ‘selection bias’?
(A) Cohort study (B) Randomized controlled trials
(C) Cross-sectional studies (D) Case-control
182. ‘age and sex’ are considered under which type of variable -
(A) Independent (B) Dependent
(C) Confounding (D) Background
183. NAMSTP is acronym for -
(A) National Ayurveda Morbidity Standardized Terminologies Portal
(B) National AYUSH Morbidity and Standardized Terminologies Portal
(C) National AYUSH Morbidity and Standardized Trial Portal
(D) National AYUSH Morbidity and Systematic Trial Portal
184. AR qEATITSS [T HATAT] are the causes for .......... Sroto Dushti
(A) Rasavaha (B) Raktavaha
(C) Svedavaha (D) Medovaha
18s5. ‘HgT®eT is synonym of which of following -

(A) Hridaya (B) Dhamani
(C) Sira (D) Srotas

186. ‘™ 3W‘Pg‘ml’ is characteristic of which type of Sara person?
(A) Rasa Sara (B) Rakta Sara
(C) Mamsa Sara (D) Medo Sara

187. ‘GetH g’ is characteristic of which type of Prakriti person.
(A) Vata (B) Pitta
(C) Kapha (D) Sama

188. Which of the following is/are responsible for formation of srotas in intrauterine life according to
Sushruta Samhita?

(A) Vayu (B) Ushma
(C) Jala (D) Vayu & Ushma

189. FEIAATAAT: FEARATITOEAY - these features of Kapha Prakriti are due to which of
following Guna -

(A) Snigdha (B) Pichhila
(C) Shita (D) Accha
190. Which of following is the Rasaof Rakta accrding to Vagbhata?
(A) Madhura - Lavana (B) Kashaya - Madhura
(C) Lavana - Kashaya (D) Madhura
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191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

According to Charaka Samhita, the primary line of treatment for Rasaja Vyadhi is ..........
(A) Pachana (B) Deepana

(C) Langhana (D) Vamana

‘LU’ is a symptom of ..........

(A) Medo Dhatu Kshaya (B) Medo Dhatu Vriddhi

(C) Mamsa Dhatu Kshaya (D) Shukra Dhatu Kshaya

‘qTHUit TTa@TA’ is cause of which of the following srotasdushti -

(A) Rasavaha (B) Medovaha

(C) Raktavaha (D) Mamsavaha

According to Dalhana, why does a person with Pitta Prakritioften suffer from STIATRIIT:
(painful movement of mouth)?

(A) IRTEATE AT (B) Fportfivss phretrd

(C) HEUTHATd; UTITFA MHEAT (D) I=AWETTT ?ﬂc?ﬁﬁf

The meaning of ‘ST, a feature seen in Oja Visramsa is:

(A) IAT=IH FTAT TTAH (B) Iro=Ia TRATATGATATEIAT $aT:
(C) =W HAT WA (D) All the above are possible

Which of the following is NOT true regarding Krurakoshtha?
(A) TATET: FIEHIDTY FZAT ASATTATSY: (B) WaTd FIHISH TETIH AU

(C) SusawtaR=aT Stdfa (D) AYHICEATT FIHIGH
THITATSNEIAT: - a characteristic feature of Vataprakriti is due to which attribute -
(A) Ruksha (B) Vishada

(C) Khara (D) Daruna

Which one of the following is NOT True with reference to ‘fsama=’ ?
(A) In Vasanta and Varsha Ritu, Divasvapna should be avoided

(B) It is one of the causative factors in Sthaulya

(C) Immediately after consuming food, one should not go for Divasvapna
(D) In Nava-Jvara, Divasvapna is indicated

Identify the correct version among the following:

(A) SHTATATAT M TGS (B) TUTHTeRaNTET=T MU qeggeafa
(C) Ri¥RFTerawmaT= e Feggsfa (D) FAHTRAWET=T T FHgTd

According to Charaka medo dhatu is Mulasthana of which Srotas?

(A) Medovaha (B) Asthivaha
(C) Svedavaha (D) Majjavaha
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201.

202.

203.

204.

205.

206.

207.

208.

209.

According to Sushruta Samhita, ‘TTSI¥@T is a sign of which of the following -
(A) Vatakshaya (B) Kaphakshaya
(C) Pittakshaya (D) Ojaskshaya
According to Vagbhata - Balais due to which factor?

(A) Pitrija bhava (B) Satvaja bhava
(C) Satmyajabhava (D) Rasaja bhava
According to Vagbhata ‘T¢7” Anukatva is of which prakriti ..........
(A) Vataja (B) Pittaja

(C) Kaphaja (D) Sama
‘QUARTI is characteristic of whichPrakriti ?

(A) Vata (B) Kapha

(C) Pitta (D) Samadoshaja

According to Chakrapani, in Prameha which of the following Oja-Kshaya occurs ?

(A) Ashtabindu Ojas (B) Shad Bindu Ojas

(C) Ardhanjali Ojas (D) None of these

T AR CHSEIARIsTHas: (Shukra and Ojas must not be treated differently)is the opinion of:
(A) Dalhana (B) Chakrapani

(C) Arunadutta (D) Indu

WAl W FAUTIEAA, a9 SIIASHATT F0T JEU /Gt - The appropriate translation of this

verse is as follows:

(A) The Rasa stands for mercury in this context. It can digest any liquid including Rudhira
(B) The liquid that tastes good is called Rasa. This includes even blood.

(O) Liquids that flow are called Rasa. This includes even the liquids such as Rudhira.

(D) All the above are correct

Which of the following does not grow during one’s life according to Sushruta Samhita?
(A) Romakupa (B) Drishti

(C) Both A and B (D) None of the above

HIIS: - the appropriate translation of this verse is as follows:

(A) Mastulunga is like semi-solid ghee. This is the Majjalocated in the head.

(B) Mastulungaflows out of the head like half-melt ghee when there is head injury

(C) Mastulungais made up of semi-solid ghee. It has got nothing to do with Mastaka-Majja.

(D) All the above are correct
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210.

211.

212.

213.

214.

215.

216.

217.

218.

Blood vessels ensure a continuous forward blood flow because of elastic recoil during diastole.
This recoiling effect is known as

(A) Wind Kessel effect (B) Wolf Chaikoff effect
(C) Law of Laplace (D) Adissonian crisis

Absence of which of following factors leads to Hemophilia C?

(A) Stuart factor (B) Factor-XI
(C) Labile factor (D) Calcium
Which of the following is NOT a step during contraction of skeletal muscle .......... ?

(A) Acetylcholine released from neuronal terminal

(B) Action Potential developed on sarcolemma

(C) Ca'™ released from sarcoplasmic reticulum

(D) Ca™ binds with Calmodulin

Normal QT interval ranges between

(A) 0.4 - 0.42 Seconds (B) 0. 8 - 1.0 Seconds
(C) 0.1 - 0.3 Seconds (D) 0.2 - 0.22 Seconds
The following is NOT true with reference to Respiratory Quotient:
(A) Value of the respiratory quotient does not depend on the fuel source being metabolized
(B) It is a dimensionless number

(C) It is a measure of basal metabolic rate

(D) It measures the ratio of the volume of carbon dioxide produced to the volume of oxygen

consumed
Which of the following structure is not considered to be part of basal ganglia .......... ?
(A) Caudate nucleus (B) Dentate nucleus
(C) Substantia nigra (D) Putamen

Which of the following nerve supplies to the skeletal muscle fibre?

(A) Somatic motor (B) Sympathetic

(C) Parasympathetic (D) Enteric

What is the specific gravity of lipids .......... ?

(A) greater than 1.5 (B) greater than 1.0
(C) less than 1.0 (D) In between 1.0 - 1.5
What is the resting membrane potential of SA node .......... ?

(A)-100 mV (B) —-90 mV

(C)-80 mV (D) -55 mV
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219. “Bainbridge reflex” explains that:
(A) An increase in the right atrial pressure leads to an increased heart rate
(B) An increase in left ventricular pressure leads to an increase heart rate
(C) A fall in left atrial pressure leads to an increase in heart rate

(D) All the above

220. What is barometric pressure at Sea level .......... ?
(A) 540 mmHg (B) 760 mmHg
(C) 660 mmHg (D) 500 mmHg

221. Following is NOT true regarding Arneth index:
(A) Determines the percentage of neutrophils with one, two, three, four, and five or more lobes.
(B) Individuals who have a larger percentage of neutrophils with fewer lobes have a left shift
(C) Individuals with a larger percentage of neutrophils with more lobes have a right shift

(D) Left shift indicates vitamin B12 or folate deficiency, chronic uremia, or liver disease

222. What is the Pulmonary Artery Systolic pressure .......... ?
(A) 25 mm Hg (B) 10mm Hg
(C) 15 mm Hg (D) 120 mm Hg

223. Following is NOT related to limbic system:

(A) Amygdala, Hippocampus, Hypothalamus, Mammiliary Body are the major structures of
limbic system

(B) Supports a variety of functions including motivation and long-term memory
(C) Influences the endocrine system and the autonomic nervous system.
(D) This has got no role in emotional functions and olfaction.
224. Total ejection period in cardiac cycle requires about
(A) 0.05 Seconds (B) 0.25 seconds
(C) 0.11 Seconds (D) 0.19 Seconds
225. Following is NOT true regarding Cardiac Output:
(A) Normal resting cardiac output in adult human being is about 5 liters per minute
(B) It is calculated by multiplying heart rate and stroke volume
(C) It is the major factor that determines Systolic Blood Pressure

(D) In sportspersons, maximum cardiac output achievable is less than 10 liters/min

226. Which of the following does not contain procoagulant .......... ?
(A) Serum (B) Plasma
(C) Blood (D) None of above
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227. All the following statements are true regarding Emphysema EXCEPT:
(A) Involves gradual damage of lung tissue
(B) Thinning and destruction of the alveoli is seen
(C) Hyperinflated lungs with reduced vascular markings are seen in chest X-ray

(D) There is an increase in the surface area of the respiratory zone and more oxygen reaches the
bloodstream.

228. Which of the following Receptorssense the cold?

(A) Meissner’s corpuscle (B) Pacinian corpuscles
(C) Raffini’s end organs (D) Krause’s end bulbs
229. When recording lead III on ECG , the negative electrode is .......... ?
(A) Left Arm (B) Left Leg
(O) Right Leg (D) Left Arm + Left Leg
230. Which of the following is a reason for increase in blood volume .......... ?
(A) Acute exposure to cold (B) Pregnancy
(C) Erect posture (D) Reduction in number of RBCs
231. Which of following is largest blood cell .......... ?
(A) Eosinophil (B) Lymphocyte
(C) Neutrophil (D) Monocyte
232. Which of the following is a cause of systolic murmur .......... ?
(A) Mitral stenosis (B) Aortic regurgitation
(C) Aortic stenosis (D) Pulmonary regurgitation
233. Normal prothrombin time is .......... ?
(A) 11 - 15 seconds (B) 2 - 3 minutes
(O) 1 - 5 minutes (D) 5 - 8 minutes
234. Which of the following is not a disease due to Hyperactivity of Anterior Pituitary gland .......... ?
(A) Gigantism (B) Acromegaly
(C) Cushing Syndrome (D) Simmond’s disease
235. Which of the following Hormone is synthesized & stored in the pituitary gland .......... ?
(A) GH (B) GHRH
(C) ADH (D) Somatostatin
236. Two molecules of DIT combine to form .......... ?
(A)T; (B) Thyroxine
(O) rT; (D) None of the above
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237.

238.

239.

240.

241.

242.

243.

244.

245.

246.

Which of following is most likely to produce the greatest increase in insulin secretion .......... ?
(A) Amino acids (B) Amino acids & glucose

(C) Amino acids & somatostatin (D) Glucose & somatostatin

Which of following Area is of zero blood flow area of lung .......... ?

(A) Apical portion (B) Mid portion

(C) Lower portion (D) Lateral portion

Pepsinogen is secreted mainly from which of the following structures .......... ?

(A) Acinar cells of the Pancreas (B) Ductal cells of the Pancreas

(C) Epithelial cells of the Duodenum (D) Gastric glands of the Stomach

Which of the following are likely consequences of ileal resection .......... ?

(A) Achalasia (B) Atropic Gastritis

(C) Constipation (D) Vitamin B12 Deficiency

Which of following area is not related with hearing sense .......... ?

(A) Area 41 (B) Area 42

(C) Wernicke’s area (D) Area 17

When do progesterone levels rise to their highest point during the female hormonal cycle .......... ?

(A) Between ovulation & the beginning of the menstruation
(B) Immediately before menstruation
(C) When L.H. is high in blood

(D) When primary follicles are developing to antral stage

Vital Capacity does not include following .......... ?

(A) IRV B) TV

(C) ERV (D) RV

Most of energy release from glucose molecule occurs during which of the following processes
2

(A) Citric Acid Cycle (B) Glycogenesis

(O) Glycolysis (D) Oxidative Phosphorylation

Which of following have Shortest life span .......... ?

(A) Macrophages (B) Memory T cell

(C) Erythrocytes (D) memory B Lymphocytes

After blood donation, RBCs production begins to increase in .....

(A) 30 minutes (B) 24 hours

(C) 2 days (D) 5 days
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247.

248.

249.

250.

251.

252.

253.

254.

2585.

Adhesion of WBC to the endothelium is .....

(A) due to decrease in selectins

(B) dependent on activation of integrins

(C) due to inhibition of histamine release

(D) greater on the arterial than venous side of the circulation.

Fluid exudation in to the tissue in the acute inflammatory reaction is due to .....

(A) decreased blood pressure (B) decreased protein in the interstitium
(C) increased clotting factors (D) increased vascular permeability
Which of the following statements about smooth muscle contraction is most accurate .......... ?

(A) Ca'" independent
(B) Does not require an action potential
(C) Requires more energy compared to skeletal muscle

(D) Shorter in duration compared to skeletal muscle

What is total magnification of oil immersion objective with an eyepiece of 10 X .......... ?
(A) 100 times (B) 45 times

(C) 1000 times (D) 10 times

EEG (recording) paper has printed vertical lines at what intervals .......... ?

(A)1 cm (B)2 cm

(©)3cm (D) 0.5 cm

Deficiency of Ascorbic acid causes .......... ?

(A) Scurvy (B) Beriberi

(C) Xeropthalmia (D) Dementia

Which one of the following is NOT a Non-probability sampling?

(A) Purposive sampling (B) Convenience Sampling
(C) Snowball sampling (D) Sequential sampling
All are true about cluster sampling except

(A) Sample size is same as that of simple random sampling

(B) Results can be generalized to the population

(C) Clusters are naturally occurring groups

(D) Less efficient method than simple random sampling

In a community of 3000 people, 80% are Hindu, 10% Muslim, 5% Sikh, 4% Christians and 1%
Jain’s. To select a sample of 300 people to analyze food habits, ideal sample would be derived by
which type of sampling method?

(A) Simple random sampling (B) Stratified random sampling

(C) Systematic random sampling (D) Inverse sampling
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256.

257.

258.

259.

260.

261.

262.

263.

The sampling method adopted for UIP (Universal Immunization Programme) coverage evaluation
survey of a district

(A) Random sampling (B) Stratified sampling
(C) Multistage sampling (D) Cluster sampling

An analysis of the religion of populations, who reside in a rural block, reveals that 45% are
Hindu, 30% are Muslims, 15% are Christians, and 10% are Jains. These data would best be
depicted graphically by which one of the following diagram?

(A) Cumulative frequency diagram (B) Venn diagram
(C) Histogram (D) Pie chart

A physician, after examining a group of patients of a certain disease, classifies the condition of
each one as ‘normal’, ‘mild’, ‘moderate’, and ‘severe’. Which one of the following scale is being
adopted for classification of this disease condition?

(A) Nominal (B) Ordinal
(C) Ratio (D) Interval

For a survey, a village is divided into 5 lanes, then each lane is sampled randomly is an example
of

(A) Simple random sampling (B) Systematic random sampling
(C) Stratified random sampling (D) All of the above

When part of information is collected from the whole sample and part from the sub sample;
then the method of sampling is -

(A) Simple random sampling (B) Cluster sampling

(C) Multiphasic sampling (D) Multistage sampling
All are true about standard error of mean except -

(A) With increase in sample size standard error of mean increases

(B) With increase in standard deviation standard error of mean increases
(C) Standard error is a measure of sampling error

(D) Standard deviation of the mean is a measure of standard error

A randomized trial comparing efficacy of two regimens showed that difference is statistically
significant with P < 0.001 but in reality the two drugs do not differ in their efficacy. This is an
example of -

(A) Type I error (Ol error) (B) Type II error (O error)
O 1-a D) 1-B

“DOI” is stands for (In publication process)

(A) Directory Of Index (B) Digital Objective Index
(C) Direct Object Identifiers (D) Digital Object Identifier
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264. “ISSN” is stands for -
(A) International Serial Standard Number
(B) International Sequential Special Number
(C) International Standard Serial Number

(D) International Standard Sequence Number

265. At present “ISBN” code contains .......... digits
(A) 10 B) 11
(O) 12 (D) 13
266. All of the following are non-parametric tests except -
(A) Student’s t test (B) Chi-square test
(C) Spearman’s test (D) McNemar test

267. Which symbol is used to indicate Spearman’s correlation coefficient -
A)p B)y
(S0 (D) v

268. Match the centres given in column ‘A’ with the most important contributions given in
column ‘B’:

Column-A Column-B

(1) IGIB (a) AyuSoft

(2) C-DAC (b) Ayurgenomics
(3) FRLHT (c) DHARA

(4) AVP research Foundation (d) Medicinal Plant Conservation

(A)1-a, 2-b, 3-¢, 4-d B)1-b, 2-a,3-d, 4-¢

©1-¢, 2-d,3-2a,4-b MD)1-d, 2-a, 3-b, 4-c¢
269. All the following constitute violation of research ethics except:

(A) Fabrication (B) Salami Slicing

(C) Falsification (D) Citation

270. Following generally constitutes a good practice of publishing the original research:
(A) Submitting to a peer-reviewed journal (B) Submitting to a newspaper
(C) Publishing on a blog (D) Publishing as a book
271. Following is FALSE with reference to Google Scholar:
(A) It is a standard indexing database for scholarly literature
(B) It is a search engine, not a database
(C) It does not maintain any repository of research articles

(D) It includes non-peer-reviewed literature as well
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272.

273.

274.

275.

276.

2717.

278.

279.

The most credible evidence is provided by:

(A) Anecdotal literature (B) Historical Scriptures

(C) Random Controlled Trials (D) Systematic Reviews and Meta-analyses
Following does NOT constitutes plagiarism:

(A) Lifting a paragraph from some other source without citing the source

(B) Lifting a full paragraph from some other source and citing the source

(C) Writing others’ ideas in your own language and citing the original source

(D) Lifting a paragraph from your own previous published work without citing it

Match the institution given in column A with the journal being published given in column B:

Column-A Column-B

(1) IPGT&RA (a) ASL

(2) AAPI (b) J-AIM

(3) TDU and WAF (c) AAM

(4) AVP research Foundation (d) AYU
(A)1-a, 2-b, 3-¢, 4-d B)1-b, 2-a, 3-d, 4-¢
©1-¢, 2-d,3-2a,4-b MDd)1-d, 2-¢,3-b, 4-2a

T oagaarse A Yiaess R THIdFaASEIE ¥ Al g6 FT: HIUT | Which of the

following has these features?

(A) Rakta Saar Purush (B) Rajasika Purush

(C) Majja Saar Purush (D) Tamsika Purush

T UTEIHFAMNT YRIAT fawdiieas, are the features of which one of the following dhatu Kshaya?
(A) Rasadhatu Kshaya (B) Raktadhatu Kshaya

(C) Medadhatu Kshaya (D) Mazzadhatu Kshaya

Tarpayati, Dharyati, Yapyatiand Vardhyati are the function of which of the following?
(A) Rasa Dhatu (B) Mazza Dhatu

(C) Shukra Dhatu (D) Meda Dhatu

How many types of dietic incompatibility have been described by Chakrapani?

(A) 16 (B) 18

(O) 12 D)6

Which one of the following statement is not correct regarding observational studies?
(A) Observational studies are also called epidemiological studies

(B) Diagnostic studies are classified as observational studies

(C) Observational studies are those where the investigator is not acting upon study participants,
but instead observing natural relationships between factors and outcomes.

(D) Observational studies are also called experimental studies
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280.

281.

282.

283.

284.

28S.

286.

In reference toTrikka which one of the following statement is true?

(A) Acharya Dalhana has mentioned the meaning of Trikka as the meeting point of head and
both the arms

(B) Acharya Hemadri has described Trikka as the lower part of Vertebral column(Merudanda)
(C) Acharya Indu has described Trikka as the meeting point of neck and the arms
(D) All of the above statements are correct

In which of the following texts, description of Saptaahara Kalpana is available in place of
AshtaAharavidhi-visheshayatana?

(A) Kashyapa Sambhita (B) Ashtanga Sangraha
(C) Sushruta Samhita (D) Charaka Samhita

In reference to Vipaka which one of the following commentator has described “Parinamaante”
as “Jarana-nisthakale”?

(A) Acharya Arundutta (B) Acharya Dalhana

(C) Acharya Indu (D) Acharya Hemadri

Which one of the following statement is incorrect in reference toAntaradhi?

(A) Acharya Dalhana has mentioned Antaradhi as Madhya Sharira

(B) Acharya Indu has explainedAntaradhias the part that extends from Jatru to Kati

(C) Acharya Arunduuta has mentioned Antaradhi as Madhya Bhaga of the body except Shiro,
Bahu and Sakthi

(D) Acharya Charaka has mentioned Antaradhi as Madhya Bhaga of the body except Bagu and
Sakthi

Which one of the following is NOT CORRECT regarding Sweda?

(A) It is the fluid which comes out through hair follicles when Udaka combines with Ushma
(B) It shares AsharayaAsharayi relationship with Pitta Dosha

(C) Amount of Sweda secreted in an individual is irrespective to his Prakriti
(D) It serves as Dushya in various diseases.
Which one of the following is NOT CORRECT in relevance to gut microbiota?

(A) It plays an important role in not only metabolism but also plays an important role in immune
function

(B) It also plays an important role in maintenance of psychological health and thus psychobiotics
are now currently used as psychotropics

(O) Its diversity is majorly affected by stress and HPA axis

(D) Its diversity and composition does not differ in individuals.

Klaibya comes under which type of Dhatu PradoshajaVikara according to Charaka Samhita?
(A) Rasaja (B) Shukraja

(C) Majja (D) Rasaja and Shukraja
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287.

288.

289.

290.

291.

292,

293.

294.

295.

AL ... TS is the feature of
(A) Mana (B) Aatma
(C) Hridaya (D) Mana and Aatma

Regarding the treatment of vitiation of Srotasas, which one of the following statement is not
correct?

(A) In case of vitiation of UdakavahaSrotasa treatment pacifying Trishna should be prescribed

(B) In case of vitiation of Mutravaha and PureeshvahaSrotasa treatment of Mutrakriccha and
Atisara should be prescribed respectively

(O) In case of vitiation of AnnavahaSrotasa treatment of Aamadosha should be prescribed
(D) In case of vitiation of PranavahaSrotasa treatment of Jwara should be prescribed
Which of the following test is used for the assessment of cardiac efficiency?

(A) Harvard Step Test (B) Master’s Step Test

(C) Treadmill Test (D) All the above mentioned test

According to Sushruta Samhita, which one of the following is the root of MansavahaSrotasa?
(A) Snayu and Twacha (B) Snayu, Twacha and RaktavahiDhamani
(C) RaktavahiDhamanies (D) KandaraTwacha

According to Acharya Sharangdhar which one of the following statement is not correct?
(A) Nidra is caused due to predominance of Kapha and Tamoguna

(B) Murccha is caused due to predominance of Pitta and Tamoguna

(C) Pitta, Rajo-guna and Vayu predominate in Tandra

(D) Rajoguna, Pitta and Vayu predominates in Giddiness

According to Sharangadhara Samhita, which one of the following is the Gati of SannipatikaNadi?
(A) Like the movement ofTeetara, Lava and Batera

(B) Like the movement of Hansa and Paravati

(C) Like the movement ofKulinga, Crow or Frog

(D) Like the movement of Leech or Snake

Tred FRresfardr @wgie: Jniassdt e FATST It are:

(A) Sequence of ShariraKshaya (B) Different stages of life

(C) Different qualities of life (D) Functions of sense organs

Which of the following has been described as Gativivarjita by Acharya Bhoja?

(A) Oja, Majja, Shukra (B) Kandara, Mamsa, Meda

(C) Mamsa, Meda, Asthi, Pitta (D) Sira, Snayu, Vasa, Stanya and Tvacha
According to Acharya Arundatta, Anjali Pramana of Par Oja is:

(A) Ashtabindu (B) Ardhanjali

(C) Shad-bindu (D) Pancha Bindu
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296.

297.

298.

299.

300.

TG, TAAl, JAATHT, AT, Sftaneftaneft, sitqaun, sifq@ama, ftgmmafda, According to Bhela

Samhita, these are the features of which of the following-

(A) Pitta Prakriti Individuals (B) Kapha Prakriti Individuals
(C) Sama Prakriti Individuals (D) Mazza Sara Individuals

In Ashtanga Hridaya, Smriti is described as the function of -

(A) Prana Vayu (B) Udana Vayu

(C) Samana Vayu (D) Vyana Vayu

In Charaka Samhita, the word Bandha (¥+%1) has been included among the normal functions of
Kapha. According to Chakrapani what is the meaning of this word?

(A) Sandhi Bandha (B) Compactness

(O) Sira Kandara (D) KaphaVikara

What is the meaning of the word “Dandashuka” (3=%) as per Chakrapani?
(A) Punarbhakshanasheela (Habituated to repeated eating)

(B) Punargamanasheela (Habituated of walking)

(C) A kind of parrot

(D) A type of sensation in throat

Chakrapani has described the following types of Artava:

(A) Udbhuta and Anudbhuta (B) Adhika and Alpa

(C) Snigdha and Ruksha (D) Laghu and Guru
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